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BE: HICE: 27:
X — 2% — 40x — 64 X+ 7x — 38x— 240

X+ 4x* — 25x— 28 36x° — 49x% — 35x + 50

X+ 5x+6 X+ 6x% — 55x— 252

7x* — 49x 18x° + 137x% + 53x — 168

X+ 126 —x— 252 X — 10x* +20x — 32
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X —2x> — 40x — 64 X+ 7 — 38x — 240
(c+ 2)(x — 8)(x + 4) (x+ 8)(x — 6)(x + 5)
X+ 4x> —25x— 28 36x° — 49x” — 35x + 50
G+ D — 4+ 7) (9x — 10)(x + 1)(dx — 5)

XY +55+6 X+ 6x7 — 55x — 252
(x+ D —x+6) (x— 7)(x+4)(x+ 9)
7> — 49x 18x° + 137x% + 53x — 168
Tx(x—17) (Ox— 8)(x+7)(2x+ 3)
X+ 12x% —x— 252 X — 1022 + 20x — 32
(x+ 7)(x— 4)(x+ 9) (x— 8)(? — 2x + 4)
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